ADARSHA VIDYALAYA(RMSA), KHANAGAON, GAKAK

MATHEMATICS
TIME: 1-hour MARKS: 40

1. In an arithmetic progression, if a« = 8 and a = 2, then its common difference is
(a)é (b)4 (c)2 (d)10

2. In an= 2n+3 then the value of Sais

(a)15 (b)17 (e) 21 (d)24 ‘5

3. The sumof an AP 1+3+5+ ....neree. +25 is equal fo
(a)625 (b)169 (e)196 (d)144 V‘
4,  The first three terms of an Arithmetic progression with first term 1 an n
Difference 2is %
(a)-1,1,3 (b)1,-1,-3 (€)0, 1 vtd}-a, 1<)

5. The sum of the first ‘n’' odd natural numbers is 196, 1h$ﬂ'ﬂe of ‘n' is
(a)12 (b)21 \\Vtﬁ\ (d)41

6. The solutions of the equation 2x—y—5=0v-
(a) x =-2, y =1 %’{b]xﬂ.vﬂ

[@x==1,y=I (d)x=-2, y=1

7. The sum of digit of a@if number is 9. Also, 9 times this number is twice the number

obtained by e% the order of the digit. The number is:
{aas% (b) 16 (e) 18 (d) None of these

8. The $‘ equations kx =y =2 and 6x—2y =3 has a unique solution when:

Y

A boat can row Tkm with stream in 10minutes and 1km against the stream in 20minutes.

(a)k=0 (b)k %0 k=3 (d) k #3

The speed of the boat in still water is:
(a) 1.5km/hr (b) 3km/hr (c) 3.4km/hr (d) 4.5km /hr
10. The general form of a quadratic equation is:

(a) ax2 + bx + ¢ (b)ax2 +bx +c=0
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[c)ax2+b (d)ax2+bx+c=0,a#0,
11. The number of possible solutions of a quadratic equation are:
(a) exactly two (b) at most two
(c) at least two {d) None of these
12. If the roots of a quadratic equation are equal, then the discriminant is:

(a) 1 (b) O (c) greater than O (d) less than O :\:

13. The roots of 3x2—7x + 4 =0 are:

(a) rationals (b) irrationals OV

(c) positive integers (d) negative integers

14, The angle of elevation of the top of a tower from two points at dist nd b from the base
and on the same straight line with it are complimentary. The height f%er is:
(a) ab (b) Vab (¢) (ab) 2 \g{} a/b

15, Value of sin 30° +cos 600 is ?\\
a)1/2 (b) 3/2 () 1 { (d) 1

16. A tower stands vertically on the ground, fol point on the ground, which is 1 5m away from the
foot of the tower, the angle of eievctA e top of the tower is found to be 60°. The height of tower

(a) 3m (Ur& (c) 15m (d)3vV15m

17. In right angled ‘le% C, right angled at C, if tan A =1, then the value of 2sinAcosA is

is:

(a) 0 (b) 1 c) -1 (d) 2
18, ?sinzAV_ A = 4, then
Qmm- 1/V2 (b) tanA=1%
(c) tanA=1/3 (d) tanA=1/4/3

19. P is a point on X-axis at a distance of 3units from Y-axis to its left. The coordinates of P are:
(a) (3,0) (b) (0, 3) (¢) (=3, 0) (d) (0, -3)
20. The coordinates of the point where line i + % = 7 intersects Y-axis are:

(a) (@, 0) (b) (O, b) () (0, 7b) (d) (74, 0)
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21. The area of the triangle OAB, the coordinates of the points A(4, 0), B(0, —=7) and O is erigin, is:
(a) 11sq.units (b) 18sq.units
() 28sq.units (d) None of these

22. The line % i % = lintersects the axes at P and Q, the coordinates of the midpoint of PQ are:

(a)(1,2) (b) (2, 0) (e) (0, 4) (d) (2, 1)
25. The mean of x, x+1, x+2, x+3, x+4, x+5 and x+6é is: 5
(a) x (b) x+4 (c) 3 (d) x+3 O

26. The median of 2,3, 2, 5,6, 9, 10, 12, 16, 18 and 20 is: OP
(a) 9 (b) 10 (c) 20 (d) 9.5 v\

27. Mode of 1,0,2,2,3,1,4,5,1,0 s
(a) 5 (b) O () 2 (1 E

28. If the mode of 2, 3,5, 4,2, 6, 3,5, 5, 2 and x is 2 then, thetyalue of x is:

(a) 4 (b) 3 () 2 \\?‘\d] 5

29. A line passing through 2 peints on the circumv;e of a circle is

(a) Chord (b) Secant VNTungent (d) Radius

30. The distance between two par ﬁﬁgems in a circle of radius 3.5¢m is ==e-ceceeeae cm.
(a) 7 {b]_]A\ () 3.5 (d) 1.75
31. The angle between t dii of circle is 1300 then the angle between the tangents at the end
points of radii at th&irpsint of intersection is
(a) 900 Q‘ (b) 500 (c) 700 (d) 400
32. In gori %ngle square of the is equal to the sum of the squares of other two sides.
rpendicular (b) sum (c) Hypotenuse (d) Opposite

33. if a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct points,

then the other two sides are divided in the
(a) same point (b) same ratio

(c) same distance (d) same length
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34. All the equilateral triangles are
(a) Similar (b) Congruent (c) Both (a) and (b) (d) None

35. A triangle PQR is similar to another triangle ABC such that ar{PQR)=4ar(ABC). The ratio of their

perimeters is given as:

(a) 2:1 (b) 1:2 (c) 4:1 (d) None of these

36. If a right circular cone of vertical height 12c¢m has a volume of 616em3 , then the radius of it; base
is:

(a) 6cm (b) 7em (c) Bem (d) Pem O
37. If all the sides of a cube are doubled then its area will become: O E

(a) 2 times (b) 3 times (¢) 4 times (d) 8 time V\

38. Three spheres of radii 3cm, 4cm, and 5cm are melted to form a st% ere of radius:

(a) 5cm (b) 6.5¢m (c) 7em \@%

39. A hall 40m long, 15m broad, is to be paved with stones, each measuring 60 ecm by 50cm. The

number of stones required is: *?s\

(a) 1000 (b) 2000 (c) 0 (d) None of these
40. A solid formed on revolving a right unv&ngle about its height is
(a) Cylinder (b) Sphere @;\circulcr cone (d) Frustum of cone
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